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10×  / ndf 2χ  258.2 / 9

Constant  1.980e+02± 1.332e+05 

Mean      0.00017±0.00287 − 

Sigma     0.0002± 0.1319 

=143, p=[1.0,12.0]σ

 KinFit MC+π

 KinFit Data+π
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10×  / ndf 2χ  212.7 / 9

Constant  1.980e+02± 1.334e+05 

Mean      0.000173±0.002476 − 

Sigma     0.0002± 0.1319 

=143, p=[1.0,12.0]σ

 KinFit MC-π

 KinFit Data-π
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10×  / ndf 2χ  567.3 / 9

Constant  2.152e+02± 1.307e+05 

Mean      0.0002± 0.0194 

Sigma     0.0002± 0.1322 

 / ndf 2χ  567.3 / 9

Constant  2.152e+02± 1.307e+05 

Mean      0.0002± 0.0194 

Sigma     0.0002± 0.1322 
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10×  / ndf 2χ  504.9 / 9

Constant  2.155e+02± 1.315e+05 

Mean      0.00019± 0.01987 

Sigma     0.0002± 0.1322 

 / ndf 2χ  504.9 / 9

Constant  2.155e+02± 1.315e+05 

Mean      0.00019± 0.01987 

Sigma     0.0002± 0.1322 
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